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7.4 Trigonometric Equations

To solve a trigonometric equation, we must find all the values of
the variable that make the equation true. Use the rules of
algebra to isolate the trigonometric function on one side of
the equal sign. Then, use your knowledge of the values of
trigonometric functions to solve for the variable.

Example 1:  Solve.

2sinx-1=0
=+

2 Sinx =
2 2.

Example 2: Solve.
tan’x-3=0
+3 +3
/\I‘Ea.h?-x =,.‘3
“tan w. = :x:r\l

X="3 +TC£< -)—'(\:k
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Example 3: Solve.

sinx
COS X

tanx= |
x=T5 Tk

Example 4: Solve.
CoS™(cos R)= (o 32)

K= [.25 +20Ck, S. 03 + 2Tk
QT QI

ovr

Fﬁ |23 —1.25+ 7Tk
3% N’\ N6 28
N,

X
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Example 5: Solve.
9sin’x-1=0

ISR
2.© L-gr.'swgsg % }a
2 (rf /JSXan. e
<

- 4

A= 5 +TCk @ &1
X%met-(ck @_)m

Factoring is one of the most useful techniques for solving

trigonometric equations. Set the equation equal to o, then factor.
CoOSX—> vy
Example 6: Solve.

2coszx 7COSX+3=0
T—FY+F3T0

Q’&J-— Vg —=3)=o0
CZCoSX—\(.Con-'g = &

2 cosx— | =0 cosk—3=0
COSX= @éi
A= Tk

x= Lk
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Example 7: Solve.
3tan’®=tan O

2tan’o —tan © = O
on® (3tan*e — D = O

tan® =0 PO —| =
6 =Tk NTate 3
ton & = i:B;_
D="5+Tk
D =2+,

Example 8: Solve.
4 COSXSINX+3COSX=0

CoS X (’1‘ Sin X —+ ’33 =0

COSX =0 ‘\~Smx+’7\ =0
x=T O S %’(‘A)
L\\ KX —0.85+ 21k
3. X2 —2.29 4 2Tk
2 e
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